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To plot the scatterplot of Viscosity vs PCV: select Graphs and
Scatter/Dot from the pulldown menus
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Select Simple Scatter and Define
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On the Simple Scatterplot dialog, select the two variables for the Y axis and X axis

Viscosity.sav [DataSet2] - SPSS Data
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Select Blood Viscosity for the Y axis and Packed Cell Volume for the X axis.
Click OK.
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The scatterplot is generated, but no line of best fit is present. To rectify this double-

Viscosity.sav [DataSet2] - SPSS Data Edit:

click on the graph to bring up the chart editor
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On the chart editor, we wish to add in the line of best fit.
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Select Elements and Fit Line at Total.
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On the Properties dialog, select the Fit Line tab, then the Confidence Intervals None
toggle button, then Apply and Close.

EURE -4 =0 8 Fr BLE (W@
[ |

View

Patient viscosity pev var var var var var var var var var var var war war war var var var var var var A~
1 1 37 40.00 =
2 2 378 40.00
& 3 385 42,50
4 4 388 42
5 5. 398 45
B B 403 420 File Edit Yiew Farmat  Analyze Utilitizs W Help
. : B CeHABDE Ok @ & &
5 5 214 e s += &0 == 8 | Chart Size | Lines [Ff Line
10 10 420 48 — —— I Display Spikes
] i) 40 4B eh # Chart Editor it Wetrod
12 12 427 47 Title: Il i e
e} i FEr el Notes i File Edit Yiew Options Elements Transform Help :  Meanof ¥  Quadratic
4 14 197 45 ‘;‘C:;wj‘m‘n o BXYP =LY CEEL B8 E e i
i 15 ol & B J EEE [ ar I — | B s I b [ 12 B2 | = -
16 16 4.64 45 el
17 17 468 a1
18 18 473 a0 % of poinis to i[5
19 19 487 43
20 20 4.94 a0,
21 21 495 a0 ~Confidence Interyal =
22 22 196 49 & tore
23 23 502 a0 e
24 24 6.02 51 T =
25 25 512 19 5 el
25 6 515 56 g
27 27 517 a0 8
28 28 5818 47, ;
29 28 5.38 53 3
30 30 577 a7 ©
3 Ell 550 4 o ﬂl ﬂl
32 32 590 54
33
34 R Sq Linear = 0772
o2 R Sq Linear = 0.772
36
37
38
39 T
a0 5000 :
ET] Packed Cell Volume (%) & L
42
ﬁ i H.375, ¥ 488.75 points
45
I35 = i I 3
:; 1 items selected (0 hidden/collapsed) SPSS Processor is ready H: 375, W: 469 pt.
43
50
51
52
53
54
o5 ~|
4« » \Data view 4 Variahle View f 3 I &

SPSS Processor is ready



The chart now has the plotted line of best fit. It is also possible to include
confidence intervals on the plot.
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To compute the regression model parameter estimates, use the Analyze,
Regression, Linear pulldown choices
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On the Linear Regression dialog, select Blood Viscosity as Dependent variable,
and Packed Cell Volume as the Independent variable. Press the Statistics button.
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Select Model fit, Estimates and Confidence intervals, and Continue. On the Linear
Regression dialog, press the OK button.
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The output is generated, including a model fit summary, an ANOVA table and the
estimated coefficients with confidence intervals.
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On the output, the p-value reported for the ANOVA table corresponds to a test of the
hypothesis that there is no significant relationship between x and y
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